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EXERCISE 8.1 - Question No. 1

Find the area of the region bounded by the curve y* = z and the

lines x = 1, x = 4 and the x-axis.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.1 - Question No. 2

Find the area of the region bounded by y* = 9z, = = 2,z = 4

and the x-axis in the first quadrant.


https://doubtnut.app.link/bHlOXaxsZV
https://doubtnut.app.link/ztz0pf3U0V
https://doubtnut.app.link/IL19Og3U0V

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.1 - Question No. 3

Find the area of the region bounded by > = 4y, y = 2,y = 4 and

the y-axis in the first quadrant.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.1 - Question No. 4

Find the area of the region bounded by the ellipse — + =1.

:132 y2
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Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.1 - Question No. 5


https://doubtnut.app.link/IL19Og3U0V
https://doubtnut.app.link/JFzhei3U0V
https://doubtnut.app.link/sA1PEj3U0V
https://doubtnut.app.link/FWq74k3U0V

Find the area of the region bounded by the ellipse — + =1
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Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.1 - Question No. 6

Find the area of the region in the first quadrant enclosed by x-axis,

line £ = /3y and the circle z° + y* = 4.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.1 - Question No. 7

Find the area of the smaller part of the circle z? + y? = a? cut off

by the line z = ——

V2


https://doubtnut.app.link/FWq74k3U0V
https://doubtnut.app.link/4foKKm3U0V
https://doubtnut.app.link/onyPjo3U0V

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.1 - Question No. 8

The area between z = y* and = 4 is divided into two equal parts

by the linex = a , find the value of a.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.1 - Question No. 9

Find the area of the region bounded by the parabola y = z* and

y = |z|.

Watch Free Video Solution on Doubtnut Now @


https://doubtnut.app.link/onyPjo3U0V
https://doubtnut.app.link/p09EKp3U0V
https://doubtnut.app.link/gaMddr3U0V

EXERCISE 8.1 - Question No. 10

Find the area bounded by the curve z* = 4y and the line z = 4y2 .

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.1 - Question No. 11

Find the area of the region bounded by the curve y* = 4z and the

linex = 3.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.1 - Question No. 12


https://doubtnut.app.link/ra4uDs3U0V
https://doubtnut.app.link/aizbbw3U0V
https://doubtnut.app.link/XDs4xx3U0V

Area lying in the first quadrant and bounded by the circle
2 2 : : T 'y
x” + y° = 4 and the lines £ = Oandx = 21s (A) 7w (B) B) (C) 3

(D) 7

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.1 - Question No. 13

Area of the region bounded by the curve y? = 4z , y-axis and the

liney = 3is (A) 2 (B) (C) (D)

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.2 - Question No. 1


https://doubtnut.app.link/XDs4xx3U0V
https://doubtnut.app.link/XG6C6A3U0V
https://doubtnut.app.link/64suvC3U0V

Find the area of the circle 42> + 4y? = 9 which is interior to the

parabola 2% = 4y .

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.2 - Question No. 2

Find the area bounded by curves (z — 1)2 + y* = 1 and

2 +y?=1.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.2 - Question No. 3


https://doubtnut.app.link/64suvC3U0V
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https://doubtnut.app.link/DnmhGJ3U0V

Find the area of the region bounded by the curves y = z2 + 2,

y=z,z=0andz = 3.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.2 - Question No. 4

Using integration find the area of region bounded by the triangle

whose vertices are (1, 0), (1, 3)and(3, 2) .

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.2 - Question No. 5


https://doubtnut.app.link/DnmhGJ3U0V
https://doubtnut.app.link/48Zh4K3U0V
https://doubtnut.app.link/ai7vyM3U0V

Using integration find the area of the triangular region whose sides

have the equationsy = 2x 4+ 1,y=3z + landz = 4.

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.2 - Question No. 6

Smaller area enclosed by the circle 22 + y* = 4 and the line

z+y=2is(A)2(r — 2)(B) 7 — 2 (C) 21 — 1(D) 2(7 + 2)

Watch Free Video Solution on Doubtnut Now @

EXERCISE 8.2 - Question No. 7
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https://doubtnut.app.link/cXVEpP3U0V

2
Area lying between the curves y? = 4z and y = 2z is (A) 3 (B)
1 C 1 b 3
3 (0) 5 D)5

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 1

Find the area under the given curves and given lines: (i) y = z?,

4

x=1,z =2and x-axis (i1)) y = 2~ , *x = 1, ¢ = 5 and x-axis

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 2

Find the area between the curves y = z and y = z° .


https://doubtnut.app.link/cXVEpP3U0V
https://doubtnut.app.link/pQfWNQ3U0V
https://doubtnut.app.link/HeKOiU3U0V

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 3

Find the area of the region lying in the first quadrant and bounded

byy =4z, =0,y = landy = 4.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 4

Sketch the graph of y = |z + 3| and evaluate/— 60|z + 3|dx .

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 5


https://doubtnut.app.link/HeKOiU3U0V
https://doubtnut.app.link/gqjgGV3U0V
https://doubtnut.app.link/hbqO8W3U0V
https://doubtnut.app.link/tccAN03U0V

Find the area bounded by the curve y = sin x between x = 0 and

Tr = 2.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 6

Find the area enclosed between the parabola y* = 4az and the line

Yy = mx.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 7


https://doubtnut.app.link/tccAN03U0V
https://doubtnut.app.link/2IkKc23U0V
https://doubtnut.app.link/V4mTx33U0V

Find the area enclosed by the parabola 4y = 322 and the line

2y = 3z + 12

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 8

Find the area of the smaller region bounded by the ellipse

2 2
“; +y4 :1andtheline§+%:1

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 9


https://doubtnut.app.link/V4mTx33U0V
https://doubtnut.app.link/hhiRd73U0V
https://doubtnut.app.link/WNC0A83U0V

Find the area of the smaller region bounded by the ellipse

$2 y2

Y
az"'bz

— 1andtheline£ + = =1
a b

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 10

Find the area of the region enclosed by the parabola z* = y , the

line y = x + 2 and the x-axis.

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 11


https://doubtnut.app.link/WNC0A83U0V
https://doubtnut.app.link/u7baY93U0V
https://doubtnut.app.link/dLR0ud4U0V

Using the method of integration find the area bounded by the curve
|z| 4+ |y| = 1. [Hint: The required region is bounded by lines

rt+y=lLz—y=1 —z+y=1land —x —y = 1]

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 12

Find the area bounded by curves {(w, y):y > 2 and y = |w|}

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 13


https://doubtnut.app.link/dLR0ud4U0V
https://doubtnut.app.link/sUtBRe4U0V
https://doubtnut.app.link/KdvRjg4U0V

Using the method of integration find the area of the triangle ABC,

coordinates of whose vertices are A(2, 0), B (4, 5) and C (6, 3).

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 14

Using the method of integration find the area of the region bounded

by lines: 2¢ +y = 4,322y = 6and 23y + 5 = 0

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 15

Find the area of the region {(a:, y):y? < 4z, 42’ + 4y* < 9}


https://doubtnut.app.link/KdvRjg4U0V
https://doubtnut.app.link/D5BNZj4U0V
https://doubtnut.app.link/2CGIxl4U0V

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 16

Area bounded by the curve y = z° , the x-axis and the ordinates

x:Zand:p:1iS(A)—9(B)_T15(C)14—5(D)1T7

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 17

The area bounded by the curve y = z|x| , x-axis and the ordinates
L 1 2 4
x = — land x = 11s given by (A) 0 (B) 3 (C) 3 (D) 3 [Hint :

y=z"ifz and >;0andy= —a’ifz and <;0].

Watch Free Video Solution on Doubtnut Now @


https://doubtnut.app.link/2CGIxl4U0V
https://doubtnut.app.link/WFD3Rm4U0V
https://doubtnut.app.link/Bb9Veo4U0V

MISCELLANEOUS EXERCISE - Question No. 18

The area of the circle z° + y? = 16 exterior to the parabola
9 : 1 4 4
y? = 6z is (A) §(47r —/3) (B) §(47r+ V3) (C) §(87r —/3)

4
(D) 5 (87 + +/3)

Watch Free Video Solution on Doubtnut Now @

MISCELLANEOUS EXERCISE - Question No. 19

The area bounded by the y-axis, y = cosz and y = s € £ when

0<z<

gis(A)Z(\r—l) (B)v2 — 1(C) vZ + 1 (D) /2

Watch Free Video Solution on Doubtnut Now @


https://doubtnut.app.link/NXQ9Sr4U0V
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SOLVED EXAMPLES - Question No. 1

Find the area enclosed by the circle z* + y* =

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 2

2 2

Find the area enclosed by the ellipse a:_ + J

=1

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 3

Find the area of the region bounded by the curve y = z? and the

liney = 4.


https://doubtnut.app.link/kWUQQw4U0V
https://doubtnut.app.link/fm1yiy4U0V
https://doubtnut.app.link/mtqfKz4U0V

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 4

Find the area of the region in the first quadrant enclosed by the x-

axis, the line y = z , and the circle z? + y* = 32.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 5

2 2

Find the area bounded by the ellipse Zz + ‘Zz = 1 and the

ordinates x = 0 andz = ae , where, b*> = az(l — 62) ande < 1.

Watch Free Video Solution on Doubtnut Now @
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https://doubtnut.app.link/6noQ6A4U0V
https://doubtnut.app.link/LLwItC4U0V

SOLVED EXAMPLES - Question No. 6

Find the area of the region bounded by the two parabolas y = z*

and y? = x .

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 7

Find the area lying above x-axis and included between the circle

z? + y? = 8z and the parabola y* = 4z .

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 8


https://doubtnut.app.link/5e2pVD4U0V
https://doubtnut.app.link/4mU8iF4U0V
https://doubtnut.app.link/Am9zGG4U0V

In Figure, AOBA is the part of the ellipse 92> + y? = 36 in the
first quadrant such that OA = 2andOB = 6 . Find the area

between the arc AB and the chord AB.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 9

Using integration find the area of region bounded by the triangle

whose vertices are (1, 0), (2, 2) and (3, 1).

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 10


https://doubtnut.app.link/Am9zGG4U0V
https://doubtnut.app.link/ct1I5H4U0V
https://doubtnut.app.link/XiuTqJ4U0V

Find the area of the region enclosed between the two circles:

22 +y? =4dand(z —2)° +¢y> =4.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 11

Find the area of the parabola y* = 4ax bounded by its latus

rectum.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 12


https://doubtnut.app.link/XiuTqJ4U0V
https://doubtnut.app.link/LVQTOK4U0V
https://doubtnut.app.link/FEBUaM4U0V

Find the area of the region bounded by the line y = 3x + 2, the x-

axis and the ordinates x = landx = 1.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 13

Find the area bounded by the curve y = cos x between £ = 0 and

Tr = 2.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 13


https://doubtnut.app.link/FEBUaM4U0V
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Prove that the curves y? = 4z and = = 4y divide the area of the
square bounded by ¢ = 0, z = 4, y = 4andy = 0 into three equal

parts.

Watch Free Video Solution on Doubtnut Now @

SOLVED EXAMPLES - Question No. 14

Find the area of the region

{(w,y):O§y§w2+1,0§y§a}+1,0§x§2}

Watch Free Video Solution on Doubtnut Now @
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